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DIRECTIONS: 
Following information is given about a family. 
1. Meena is Reena's only sibling. 
2.Sita is Ruchi's grandmother. 
3.Nutan is Sujata's and Ram's grandchild. 
4.Sujata has only one child, a son. 
5.Meena is Vishu's sister in law and Ruchi's mother. 
6.Nutan is Vishu's daughter. Ram is Sita's husband. 
 
1) How is Nutan related to Ruchi? 
a) Sister  b) Cousin  
c) Aunt    d) Niece 
 
2) How is Sita related to Vishu? 
a) Mother  b) Aunt 
c) Mother-in-law  d) Sister 
 
3) How is Vishu related to Ruchi? 
a) Father  b) Uncle  
c) Grandfather  d) Brother 
 
4) How is Ram related to Sujata? 
a) Brother  b) Husband 
c) Sister   d) None of these  
 
DIRECTIONS: 
1. K is sister of S. 
2. S is married to M. 
3. M is father of R. 
4. Q is son of P. 
5. S is mother-in-law of P. 
6. M has only one son and no daughter. 
7. K is married to T. 
8. N is daughter of K. 
 
5) How is P related to M? 
a) Son    b) Uncle 
c) grandson  d) Daughter in law 
e) None of these 
 
6) How is K related to R ? 
a) Sister  b) Mother 

c) Mother-in-law d) Aunt  
e) None of these 
 
7) A is the daughter of F. H is married to F. F is brother 
of B. Q is married to A.How H related to Q ? 
a) Mother  b) Mother-in-law  
c) Daughter  d) Aunt 
e) None of these 
 
DIRECTIONS: 
Study the following information carefully and answer 
the questions given below it. 
 
1.  A  is  the  father  of  two  children  B  and  D,  who  are 
different sexes. 
2. C is B's spouse. 
3. E is of the same sex as D. 
4. B and C have two childrens - F who is of the same sex 
as B and G who is of the same sex as C. 
5. E's mother H who is married to L, is the sister of D's 
mother M. 
6. E and E's Spouse I, have two children J and K, who 
are of the same sex as I. 
7.  No  person  has  married  more  than  once  and  no 
children have been born out of wet lock. 
8.The only restriction son marriage are that marriage 
to a sibling, to a direct descendant or to more than one 
person at the same time are forbidden. 
 
8) According to the rules, D can marry? 
a) j only   b) G only 
c) F only  d) K only 
e) F, J or K 
 
9)  If  the  generation  of  F  and  K’s  parents  and  their 
siblings contains more females than males, then which 
of the following must be true? 
a) J is a male  
b) A is of the same sex as D 
c) K and G are of the same sex 
d)  there  are  more  females  than  males  in  F  and  K’s 
generation 
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e) None of these 
 
10) F is 
a) G’s brother 
b) D’s niece or nephew  
c) G’s Sister 
d) B’s daughter 
e) none of these 
 
11) If L and H divorced, then H could marryI. D only II. F 
III. D or G 
a) III only  b) II only 
c) I only   d) II or III, but not both  
e) None of these 
 
DIRECTIONS: 
Read  the  information  given  below  and  answer  the 
questions that follow: 
 
A, B, C, D, E and F are six members of a family. 
One couple has parents and their children in the family. 
A is the son of C and E is the daughter of A. 
D is the daughter of F who is the mother of E. 
 
12) Who are the male members in the family ? 
a) A and C 
b) Cannot be determined  
c) A, B and D 
d) C and F 
e) None of these 
 
13) Which of the following pairs is the parents of the 
children ? 
a) BC 
b) Cannot be determined 
c) BF 
d) CF 
e) None of these  
 
14) Which of the following pairs is the parents of the 
couple ? 
a) AB  b) CF  c) AF 

d) BC   e) None of these 
 
15) How many female members are there in the family 
? 
a) Two   b) Can't be determined 
c) Four     d) Three 
e) None of these 
 
16) What relationship do D and E bear to each other ? 
a) Sister and Brother 
b) Sister  
c) Grandmother and Grand daughter 
d) Mother and Son 
e) None of these 
 
17)  A,  B,  C,  D,  E,  F  and  G  are  members  of  a  family 
consisting  of  four  adults  and  three  children,  two  of 
whom, F and G are girls. A and D are brothers and A is 
a doctor. E is  an engineer married  to  one of the 
brothers and has two children. B is married to D and G 
is their child. Who is C ? 
a) A's son   b) G's brother 
c) F’s father  d) E's daughter 
 
18)  Q’s mother  is  sister  of  P  and  daughter of  M.  S  is 
daughter of P and sister of T. How is M related to T? 
a) Grandmother 
b) Father 
c) Grandfather 
d) Grandfather or Grandmother  
 
19)  A  is  the  mother  of  D  and  sister  of  B.  B  has  a 
daughter C who is married to F. G is the husband of A. 
How is G related to D ? 
a) uncle   b) father  
c) son   d) husband 
 
20) A is mother of B , C is son of A, D is brother of E, E 
is daughter of B. Who is the grandmother of E? 
a) A       b) D             c) C    d) B 
 



  

Copyright © All Rights Reserved | https://www.spardha.guru 

spardhaguru2022 Spardhaguru Current affairs 

SpardhaGuru Spardha.guru 

Spardhaguru1 
www.spardha.guru 

Reasoning  

Page | 3 

21) P is the brother of Q and R. S is R's mother. T is P’s 
father.  Which  of  the  following  statements  cannot  be 
definitely true ? 
a) T is Q's father. b) T is S's husband. 
c) P is S's son.  d) S is Ps mother. 
e) Q is T's son.  
 
22) R and S are brothers, X is the sister of Y and X is the 
mother of R. What is Y to S? 
a) Uncle   b) Mother 
c) Father   d) Brother 
 
23) A is father of X; B is mother of Y. The sister of X and 
Z is Y. Which of the following statements is definitely 
not true? 
a) B is the mother of Z  
b) X is the sister of Z 
c) Y is the son of A.  
d) B has one daughter. 
 
24) C is A's fathers nephew. D is A's cousin but not the 
brother of C. How is D related to C ? 
a) Father  b) Aunt 
c) Mother  d) Sister  
 
25) A is B’s brother. C is D’s father. E is B’s mother. A 
and D are brothers. How is E related to C? 
a) Sister  b) Wife  
c) Niece   d) Sister-in-law 
 
DIRECTIONS: 
Study the following information carefully and answer 
the questions given below it. 
 
Seven members of a family, P, Q, R, S, T, U and V. 
Each of them has taken different sports as profession – 
Cricketer, Base ball player, Archer, Lawn tennis player, 
Swimmer, Table Tennis player and Badminton player. 
There are three couples in the family, one in first and 
other two in second generations. 
- The Table tennis player married to V, whose father is 
the Cricketer. 

-  The  Tennis  Player  is  the  nephew  of  R,  who  is  the 
daughter of Archery player. 
- The Archery player U, is Q's parental Grandmother. 
- P and Q are of the same Gender 
- S, the brother–in-law of the base ball player, is 
married to Badminton Player 
 
26) What which game S is associated with? 
a) Swimming   b) Badminton 
c) Cricket  d) cannot be determine 
e) None of these 
 
27) How is R related to S? 
a) Mother  b) wife  
c) Sister-in-law  d) cannot be determine 
e) None of these 
 
28) How is S related to V? 
a) Mother   
b) wife 
c) Sister-in-law 
d) cannot be determine 
e) None of these  
 
DIRECTIONS: 
Read  the  following  information  carefully  and  answer 
the questions based on it. 
 
A family consists of six members A, B, C, D, E and F. 
There are two married couples. 
B is a doctor and the father of E. 
F  is  the  grandfather  of  C  and  is  a  contractor,  D  is 
grandmother of E and is a housewife. 
There  is  one  doctor,  one  contractor,  one  nurse,  one 
housewife and two students in the family. 
 
29) What is the profession of A ? 
a) Doctor  b) Housewife 
c) Nurse   d) Contractor 
 
30) Who is the husband of A ? 
a) C b) D c) F d) B  


	Page 1
	Page 2
	Page 3

